GR 11 REVISION:  TRIGONOMETRY
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1If sin 88° = ¢, express the following in terms of £. Use a sketch.
51 cos2° 52 anl178° 53 cos92°

Express each of the following as a trigonometric ratio of 0
61 tan(360° + 6) 62 cos(90° — 6)
63 sin(360° — 6) 64  tan(360° — 0)
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Evaluate without using a calculator:

74 sin150° 72 cos300°

7.3 tan390° 7.4 cos210° + sin120°

7.5 sin(90° —x). cos(180° + x).tan(180° + x)/c0s(90° — x).cos(360° — x).tan x
7.6 sin (=6) 7.7 cos(—360° — 6)

Prove:  cosx- cos x.tan(—x) = cos(—x) - sin(x — 180°).
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Determine the general solutions of the following equations.

Give your answers correct to one decimal digit.

94 sinx = —3,125 9.2 cosx-0986 = 0

93 3tanx = 212 9.4 tanx = sin35°

9.5 2cosx +1=0 9.6 tan4x = tan90°

97 2tanx.cos’x = cosx 9.8  sin(5x + 309 = sinx

9.9 tan(3x — 20°) = tan(x + 40°)  gao 3sinx = —Scosx

941 Scosx = —sinx 9.2 cos(x — 20°) = —sin (x + 30°)

913 cos (3x + 20°)

—sin (x — 60°) 914 sin®A-2sinA.cosA = 2cos? A

945 3tanx = 2sinx 916 —3-tanx = —cosx/sinx
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‘The point P(7; -12) lies on the terminal ray of # in 7

standard position.
1.1 Determine:
111 the length of OP
112 sinf
113 cosf w0
114 sin B/cos
tan g

12 Use your answers in a 1.1.1 to 1.1.5 above to make a conjecture about the values
of tanf, cos § and sin 8.
13 Determine sin’ § + cos?p.
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Use fundamental identities to simplify:

21 [(1- cosx)(1 + cosx) 22 sinx(sinx + tanx.cosx)

23 (cosx + sinx)*+ (cosx-sinx)? 24 cos?y + (sin?y.tany/cosy)

Find the values of x, x € [0° 360°], for which the identity is undefined.
Prove the identities.

31 cost = 1/cost-sin?t/cost 32 sin?b-2 =—cos?h(tan’h +2)
33 tan®R = sin?R(1 + tanR) 3.4 tan x-sin x.cos x = sin? x.tan x

35 sinx-1/sinx = —cos? x/sinx 3.6 (sin® x-cos*x)/(1+ sin x cos x) = sin x-cos x
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41 Express each of the following as a function of 42°:
414 cos222° 412 sin4g
42 Express each of the following as a function of 75°

4.2 sin 435° 422 cos285°





